0000000 000000040 240000)

00 4.2 (0009000)
4. () z=ay> -2y, z=t3, y=e'000,t000000000000000

dz , ,
a = 2T + ZyyY

= (y* — 2zy) - 2t + (22y — 2%)e’
= (e —2t%eM)2t + (2t%e" — th)e!
= —(t* +4t3)e + 2t(1 + t)e*

(2) z=Tan '(zy), =€ +e ', y=¢e*000 (Tan 'u) = P> 00000000000

dz

o= zot' + 2y

Yy 2(615_6715)_1_ _26215

"1 ()

th

_ t —t
_1+(e3t+€t)2(6 —e )+

1 + (eSt + et)2

1+ (2y)?
el +et 0,2t
14 (e +e')?

5(1) z=a2y*+2%y,z=u+v,y=u—0v000000000

Zu = ZgTu + Zylu
= (y* +22y) - 14 ey +2?) - 1
= 2% + dxy + o2
= (u4v)? +4(u+v)(u—v)+ (u—20)?
= 6u? — 21}2,
Zy = ZgTy + ZyYu
= (y* + 2zy) - 1 + (2zy + 2%) - (=1)
— g2

= (u—v)?* = (u+v)?

= —4uw.



(2) z=sin(x —y),r=v?+0*, y=200 000000000

Zy = ZgTy + ZyYu
= cos(z —y) - 2u — cos(x — y) - 2v
= 2(u — v) cos(u — v)?,

Zy = ZpZy T ZyYy
= cos(x —y) - 2v — cos(z —y) - 2u

= 2(v — u) cos(u — v)*.

3) z=f(z,y),z=2u—3v,y=u—5v 000000000

Zy = ZgTy + ZyYu
= 2f:r: - fya

Zy = 2Ty + 2yl
= —3fs —5fy.

ooooboobobooobd zyyO0D0d z2=2u—3v,y=u—50 00000

6. z =ucosa—vsina, y =usina+vcosa («000)0000000O0O0O

Zy = ZgTy + ZyYu
= Zg COS + zy Sin a,
Zy = ZzTy + ZyYu

= 2y(—sina) + z, cos
goooon

2, .2 N2 . 2
zi+ 2y = (2gcosa + zysina)” + (—zg sin o + 2, cos a)

:,23234—25
good

9. Nz =au+bv,,y=cu+dv000 z, =a,x, =by, =c¢,y,=d00000

a( 71}) = TylYv — TolYu
=ad — bc

gogobbboooobbbooobbbuooobobbuoooo ™



(2) cosht = (e +e7")/2,sinht = (¢! — e *)/2 (000 1900000)0000x =
rcosht, y =rsinht 000

€t+6_t et —et
:137":—7 wt:T—J
2 2
et —et . Tet+e t
y?"_ 2 9 t — 2
ooooon
J(x,
=z -z
a(r’t) ’I"yt ty'l"
_ g(et +e—t>2 _ g(et _e—t)2
=r.



